| dE/dx estimator 1 |

Entries 498245
(0 0C] = EELE: ST TTTT ERSU I S SRR A Mean 2.442
= Std Dev 1.655
B Eﬁtries . 504455
0.25[ Mean 2.465
- Std Dev 1.641
0.2 L Entries 477621
r Mean 2.392
L Std Dev 1.668
0.15 Ll Entries 487721
R Mean 2.42

C Std Dev 1.653

0. 1_ .......................................................................

o

o

a1
T

0.95

TTT T[T RT I [ T T

0.9

o

| dE/dx

estimator 2 |

0.3

0.25

0.2

0.15

0.1

0.05

........................................................................

Entries 498245
Mean 2.329
Std Dev 1.625
Eﬁtries . 504455
Mean 2.349
Std Dev 1.61
Entries 477621
Mean 2.279
Std Dev 1.633
Entries 487721
Mean 2.304
Std Dev 1.616

L)

0.95

TTT T[T RT I [ T T

0.9

(@)

—=— DQM_CKF
—e— DQM_mkFit
—— DQM_BDT_CKF
—+— DQM_BDT_mkFit
[T M M CTTaTeS FIOZFHT CTIaTeS 498245
0.3 O S S S S Mean 5.129 Mean 0.2253
Std Dev 5.563 O8] A A A Std Dev 0.5447
Entries 504455 [ ) ZE— e s Entries 504455
0.7
0.25 bbb Mean 5.267 Mean 0.2308
Std Dev 5.603 Std Dev 0.5505
: :| (OS] R A R L AR R R LR 1
Q.20 it Entries 477621 Entries 477621
i Mean 5.153 [0 Yo T O S S Mean 0.2239
K Std Dev 5.661 ' Std Dev 0.5445
O A Entriés . 48772i (01078 mRRR R R R AR RCRELT ERLRRRRE ALRRRECR Entriés ' 48772i
: Mean 5.303 Mean 0.2315
§ Std Dev 5.7 Std Dev 0.5529
ol . 0.3ff -t o

0.05

1Q
1.05

TOFFFIAT—TF 11 [ -1 TT

=
I

FrTTT
A

0.95

0.9

T 1 §=

0.1

1Q

1.05

-|-r1-¢1r&-r1-r1-r1-|— o i
= :

.............................................................

0.95

o

10 20 30 40 50 60 70 80




	Contents
	Page 1


